Tower(a) 01TAO8 , inclusive ADC aO01TAO0S8
o [ Entries 1793874
10 = Mean 0.6177
] — RMS 1.573
10 = Integral 1.794e+06
— X2 [ ndf 1.969e+05/8
10 ;—-- Constant 1.036e+06+ 1727
F Mean 0.4712 + 0.0005
10 = Sigma | 0.611+ 0.001
10 b
1
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Tower(d) 0O1TAO8 , ADC, tag: UxV 2*thr dO1TAOS

— : Entries 127
16— Mean 14.9
14 - RMS 5.681
- Integral 126
12 x? I ndf 5.727 1 12
10— x0 13.21+0.44
— aL 11.73+1.48
8 sigL 1.384 + 1.605
6 - sig6 3.742+ 0.631
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Tower(a) 01TBO08 , inclusive ADC a01TBOS
108 L Entries 1793874
= Mean 0.0871
S N 1L R SO RMS 1.69
= : Integral 1.794e+06
Lo = X2 / ndf 1.962e+05/ 8
E 7 Constant 5.681e+05 + 624
. F Mean -0.04599 = 0.00096
I e S S Sigma _ 1.115%0.001
102 .;— ' ' '
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Tower(d) 01TBO8 , ADC, tag: UxV 2*thr | do1TBOS
30 ———— — T Entries 167
5 10k 5 5 Mean 14.83
S SO RS FOUL 1 | C OO AU AU RMS 6.664
Integral 165
N L S ] | O e X2 / ndf 14.13/ 12
x0 12.78 £ 0.31
5 | aL 17.64 +2.10
15 e sigl 2.657e+05 + 49134
f . |_sigG 2.533+0.275
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Tower(a) 01TCO08 , inclusive ADC a01TCo8
O S SRS SR Entries 1793874
10 = ' Mean 0.1825
 F RMS 1.549
W07 Integral 1.794e+06
F X2 [ ndf 1.643e+05/ 8
10 = | Constant 8.013e+05+ 1131
s Mean 0.1091+ 0.0009
10" =t I S Sigma 0.8064 + 0.0009
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Tower(d) 01TCO8 , ADC, tag: UxV 2*thr doiTCos
— : : Entries 154
18 Fmooereeeeoeoeeeebeeeeee i [ : Mean 17.13
- | . | RMS 10.14
e e Integral 154
L e SRR & () X2 / ndf 24 /15
B = DA Y § .| x0 13.22+ 0.47
JE | aL 11.97 + 1.58
e - sigL 6.078e+05 + 43912
g [ - _sigG_ 2,906+ 0.335
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Tower(a) 01TDO08 , inclusive ADC a01TDO0S8

o Entries 1793874
| S Mean 0.4009
] — RMS 1.541
S S S S Integral 1.794e+06
- X2 / ndf 1.139e+05/8
100 gmqper Constant 0.757e+05 + 1645
F Mean 0.3466 = 0.0007
10 = | Sigma 0.6827 + Q.OOlO
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Tower(d) 01TDO8 , ADC, tag: UxV 2*thr do1TDOS8
— : : : Entries 155
= 1: i Mean 17.35
4E | rRMS 7.834
12 N oi] Integral 154
- ’ | x2/ndf 12.97 /18
S EEt & [ ot B € & S -~ x0 15.06 + 0.49
S R T N IV L A K » aL 11.96+ 1.51
- .| sigL 2.246e+04 + 45762
6 I sigG 3.799 + 0.547
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Tower(a) 01TEO8 , inclusive ADC
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a01TEOS
77— Entries 1793874
= Mean 0.07224
— RMS 1.628
= [ e Integral 1.794e+06
- X2 / ndf 1.594e+05/ 8
= | Constant 7.893e+05 + 928
— Mean -0.045+ 0.001
= Sigma 0.821+ 0.001
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Tower(d) O1TEO8 , ADC, tag: UxV 2*thr | dO1TEOS

— : Entries 137
el [ """""""""""""""""""""""" Mean 16.17
T e B R R RMS 7.175
OSSP SOUUUUUOOOO EOOOO 18 BSOSOt FSSUOOOON OSSO SO Integral 136
= x? I ndf 11.86/12
= x0 14.2+0.5
= aL 10.74 + 1.32
— sigL 6.068 + 11.509
- sigG 3.814 + 0.466
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Tower(a) 02TAO08 , inclusive ADC
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sigG_ 3.029 + 0.500

a02TAO08

— Entries 1793874
= Mean 0.04163
- RMS 1.518
= Integral 1.794e+06
- X2 [ ndf 2.07e+05/7
= Constant 8.757e+05+ 1177
— Mean -0.06596 + 0.00099
= Sigma 0.7186 + 0.0008
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Tower(d) 02TAQ8 , ADC, tag: UxV 2*thr | d02TAO08

= : : : Entries 154
e T Mean 14.87
u ; .| RMS 6.634
] ] OSSR SOOI ROV A Integral 153
u K X2 I ndf 20.23/13
- iy | %o 13.01+ 0.38
N : : aL 13.09 + 2.09
| siglL 1.606e+05+ 118721
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Tower(a) 02TB08 , inclusive ADC a02TB0S8
10° Entries 1793874
= Mean 0.1987
- RMS 1.671
107 Integral 1.794e+06
F x? I ndf 2.077e+05/ 8
W0 E Constant 6.311e+05+ 804
F Mean 0.08473 £ 0.00093
10° - Sigma 0.9963 £ 0.0010
| Lo i, 0L ﬂﬂﬂfLIL ....... e |
80 100 120
ADC-ped
d02TB08
Entries 121
20 Mean 14.69
18 RMS 7.633
16 Integral 121
14 x? I ndf 14.92 /13
x0 12.95+0.38
12 aL 11.99+£1.76
10 sigL 15.08 + 164.92
3 sigG 2.713+£0.371
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Tower(a) 02TCO08 , inclusive ADC
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a02TCO08
Entries 1793874
Mean 0.1988
RMS 1.598
Integral 1.794e+06
X2 [ ndf 1.575e+05/ 8
Constant 8.504e+05 + 1308
Mean 0.1417 £ 0.0009
Sigma 0.763 £ 0.001
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Tower(d) 02TC08 , ADC, tag: UxV 2*thr | d02TCO08

: Entries 126
T S RSO A S Mean 14.96
] RMS 5.184
AT Integral 124
/ | X2 | ndf 13.66 / 16
X0 13.71+0.31
. aL 14.25+1.90
sigL 15.52 + 89.60
S sigG 2.187 + 0.251
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Tower(a) 02TDO08 , inclusive ADC a02TD0S8

100 Entries 1793874

= Mean 0.06083

 F RMS 1.532

100 - Integral 1.794e+06

— X2 / ndf 2.111e+05/7

10° == Constant 7.782e+05 + 980

— Mean -0.04179 + 0.00097

10° == Sigma 0.8065 + 0.0008
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Tower(d) 02TD08 , ADC, tag: UxV 2*thr d0o2TDO0S8
— : Entries 137
16 — Mean 14.48
— RMS 7.225
4 Integral 136
12 B x? I ndf 9.125/18
— x0 12.35+0.30
10 aL 15.31+ 2.04
8 sigL 10.58 + 31.82
= sigG 2.304 + 0.284
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Tower(a) 02TEO8 , inclusive ADC a02TEOS
Entries 1793874
6
E Mean 0.1081
s RMS 1.713
W00 e Integral 1.794e+06
. X2 [ ndf 2.013e+05/8
W ey Constant 6.374e+05 + 766
. F Mean -0.005674 + 0.000967
e et e S S Sigma _0.9902 + 0.0009
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Tower(d) 02TEO08 , ADC, tag: UxV 2*thr | dO2TEOS
: Entries 93
16 Mean 16.41
14 RMS 7.674
— Integral 92
12 X2 | ndf 9.009 / 14
10 x0 13.55+0.31
aL 123+ 2.1
8 sigL 3.35e+04 + 24141
5 s 1.694 + 0.300
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Tower(a) 03TAO8 , inclusive ADC a03TAO08
Wl Entries 1793874
= Mean 0.3824
- RMS 1.539
= S Integral 1.794e+06
F X2 [ ndf 1.217e+05/ 8
10 = L e Constant 8.659e+05+ 1315
F Mean 0.335+ 0.001
107 ey Sigma 0.7657 + 0.0010
10? =
10— . : : :
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ADC-ped
d03TA08

Entries 135
Mean 15.22
RMS 6.513
Integral 135
x? I ndf 7.095/14
x0 13.28+ 0.33
aL 14.85+1.98
sigL 1.162e+05 + 57482
sigG 2.589 + 0.334
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Tower(a) 03TB08 , inclusive ADC a03TBOS

S O S SO SNE SO Entries 1793874
= Mean 0.4267
I RMS 1.803
W ey Integral 1.794e+06
. = X2 / ndf 2.273e+05/8
E [\ Constant 5.354e+05+ 651
. F Mean 0.2483 + 0.0010
= T e S S Sigma _ 1.159+0.001
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Tower(d) 03TB08 , ADC, tag: UxV 2*thr | do3TBOS

: : Entries 126
16 Mean 16.05
— RMS 6.88
14 Integral 125
1 E X2 I ndf 11.67 /18
x0 14.16 + 0.36
10 aL 13.09+1.83
o sigL 3.801e+04 + 69133
sigG 2.46 + 0.34
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Tower(a) 03TCO08 , inclusive ADC a03TCo8

10° = Entries 1793874
- Mean -0.01483
s RMS 1.648
10 = Integral 1.794e+06
. X2 [ ndf 2.05e+05/8
10 e Constant 7.573e+05+ 933
. F Mean -0.1215+ 0.0010
10 = Sigma 0.8317 + 0.0008
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Tower(d) 03TCO08 , ADC, tag: UxV 2*thr do3TCo8

_ : Entries 145
16— Mean 16.44
14 - RMS 7.543
= Integral 145
12 x? I ndf 11.85/13
10— x0 13.49+0.34
= aL 14.16 + 1.88
8 — 3.367e+04 £+ 42251
6 e b b LSO 2.966 + 0.307
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Tower
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(a) 03TDO08 , inclusive ADC a03TD0S8
- —————————— Entries 1793874
= Mean 0.007685
= RMS 1.653
I B R Integral 1.794e+06
= X2 / ndf 2.057e+05/8
= || Constant 6.595e+05 + 764
- Mean -0.1273 + 0.0009
E |y Sigma 0.9547 + 0.0008
- 11T
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Tower(d) 03TD08 , ADC, tag: UxV 2*thr | d0o3TDO08
: Entries 112
Mean 16.74
RMS 8.495
Integral 112
x? I ndf 7.275/18
x0 13.85+ 0.37
aL 11.13+1.64
sigL 1.764e+04 + 13313
sigG 2.595+ 0.415
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Tower(a) 03TEOS , inclusive ADC a03TEODS

108 = Entries 1793874

= Mean 0.3594

s RMS 1.531

10° == Integral 1.794e+06
F X? / ndf 1.226e+05/ 8

10 = Constant 8.419e+05+ 1239
F Mean 0.3076 + 0.0007

10" == Sigma 0.7875 £ 0.0010

Tower(d) 03TEO8 , ADC, tag: UxV 2*thr |
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ADC-ped
dO3TEO8

Entries 142
Mean 16.88
RMS 7.76
Integral 141
x? I ndf 18.81/16
x0 14.04 + 0.46
aL 11.42+1.75
sigL 2.47e+04 + 34653
sigG 3.211+0.591




Tower(a) 04TAO08 , inclusive ADC a04TAO0S
Entries 1793874
6 o o

0 E Mean 0.07883
N T e RMS 1.598
100 E ' ' ' ] Integral 1.794e+06
. = X2 I ndf 2.039e+05/ 8
= | Constant 6.559e+05+ 771
. F Mean -0.0694 + 0.0009
= it i S S Sigma 0.9616 + 0.0008

10? ,;_ ...................................................................................................................................................

o g . — |

L .. 1111 100 O K X PO |

0 20 40 60 80 100 120
ADC-ped
Tower(d) 04TAO8 , ADC, tag: UxV 2*thr | d04TAOS

— : — : : Entries 125
14 : an : : Mean 14.73
12 RMS 5.792
Integral 124
10 X2 / ndf 17.54 /13
x0 12.92 £ 0.50
8 aL 0.273+ 1.495
sigL 6.93e+04 + 99030
6 sigG | 3.579+ 0.603
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Tower(a) 04TB08 , inclusive ADC
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Constant
Mean

a04TBO8
Entries 1793874
Mean 0.2642
RMS 1.534
Integral 1.794e+06
X2 [ ndf 1.627e+05/ 8

8.943e+05+ 1894
0.2241+ 0.0010

Sigma

0.7232 + 0.0014
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18 =
16 =
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Tower(d) 04TB08 , ADC, tag: UxV 2*thr | do4TBOS
: Entries 137
Mean 15.29
RMS 6.964
Integral 137
x? I ndf 24.6 /13
x0 12.69+ 0.62
aL 10.63+0.77
sigL 2.005e+04 + 0.7
sigG 3.49 + 0.62
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Tower(a) 04TCO08 , inclusive ADC a04TCo8

o [ Entries 1793874
107 Mean 0.2407
) — RMS 1.63
10 = Integral 1.794e+06
F x? I ndf 8.561e+04 / 7
100 Constant 9.962e+05 + 1291
F Mean 0.1501+ 0.0007
10 = Sigma _ 0.6797 + 0.0007

10? .;— """"""""""""""""""""""""""""""""""""""""""""""""""""""""""" R

P 1A O O o A SR —

o 900 0 PO T | I N R R NN 1| — |

100 120
ADC-ped
Tower(d) 04TC08 , ADC, tag: UxV 2*thr | do4TCos

— : — : : Entries 134
20 A T Mean 17.27
18 RMS 6.298
16 Integral 132
= X2 | ndf 22.94 /14
= x0 15.36 + 0.39
12 alL 11.88 + 1.67
10 ;— sigL 7.089e+04 + 41098
8 sigG_ _ 2.796+0.351
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Tower(a) 04TDO08 , inclusive ADC a04TDO0S8
s Entries 1793874
= Mean 0.4819
E RMS 1.486
10 = Integral 1.794e+06
~ X2 / ndf 6.177e+04 | 7
WE" Constant 1.075e+06 + 1437
F Mean 0.393+ 0.001
10 §_ Sigma _ 0.6387 + 0.0007
10? .;— ---------------------------------------------------------------------------------------------------------------------------------------------
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Tower(d) 04TDO08 , ADC, tag: UxV 2*thr do4TDO08
: Entries 122

18 promm S ] Mean 14.9
(S R S ] RMS 5.91
SR SRR A U | .| Integral 122
- | x?/ndf 15.78 /11
12 -~ x0 13.25+0.48
10 - .| aL 10.1+ 1.6
. = | sigL 6.965 + 37.016
=5 - |sigG 3.348+ 0.657
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Tower(a) 04TEOS8 , inclusive ADC a0O4TEOS
o [ Entries 1793874
10 = Mean 0.4765
s RMS 1.573
10 = Integral 1.794e+06
F x? I ndf 1.052e+05/ 8
0 e Constant 8.917e+05 + 1323
F Mean 0.4173 + 0.0007
10 = Sigma _ 0.7509 + 0.0010
102 .;— . . .
10 =
1
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Tower(d) O4TEO8 , ADC, tag: UxV 2*thr dO4TEOS

— : Entries 130
- Mean 17.02
14E RMS 7.579
12 Integral 129
— x? I ndf 19.5/18
10— x0 14.46 + 0.46
o alL 10.14 + 1.44
= sigL 4.277e+04 £ 1
6 sigG_ _3.198+0.459
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Tower(a) 05TA08 , inclusive ADC a05TAO08
o [ Entries 1793874
10 = | Mean 0.431
F RMS 1.453
10 = Integral 1.794e+06
— x? I ndf 5.28e+04 /6
W e T Constant 1.069e+06 + 1282
F Mean 0.3153 £ 0.0005
10 =" Sigma _0.6461+ 0.0006
102 .;— ---------------------------------------------------------------------------------------------- ------------------------------------------------
T R o e e T
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Tower(d) 05TA08 , ADC, tag: UxV 2*thr dO5TAO08
24 ' Entries 161
22 Mean 15.61
20 E RMS 7.314
18 Integral 160
16 x? I ndf 9.659 /15
x0 13.8+04
14E | aL 14.26 +1.71
12 ; sigL 1.327e+04 + 149802
10 = | sigG 3.254 + 0.381
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Tower(a) 05TB08 , inclusive ADC a05TBOS

6 Entries 1793874
10" = Mean 0.06233
- RMS 1.59
107 Integral 1.794e+06
F X2 [ ndf 1.851e+05/ 8
W0 E Constant 7.742e+05 + 974
F Mean -0.05233 + 0.00090
10 E Sigma _0.8239+ 0.0008

10? .;— ' ' '

1o |-
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Tower(d) 05TB08 , ADC, tag: UxV 2*thr do5TBOS

— : Entries 162
18 Mean 15.33
16 — RMS 6.648
n= Integral 162
- x? I ndf 28.14 /18
12 x0 13.15+0.49
10 - aL 11.42 + 1.63
. = sigL 5.17e+04 + 57806
= sigG_ _ 3.678+0.548
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Tower(a) 05TCO8 , inclusive ADC a05TC08

10° = Entries 1793874
= Mean 0.009262
T RMS 1.496
10 E Integral 1.794e+06
o L X2 / ndf 1.01e+05/ 7
E Constant 9.418e+05+ 1010
F Mean -0.09429 + 0.00070
10 = Sigma _ 0.7132 + 0.0005

10? .;— ' . .

10 =
1.
ADC-ped
Tower(d) 05TCO08 , ADC, tag: UxV 2*thr dO5TCO08

25 — : Entries 161
Z Mean 15.49
— RMS 7.474
20 — Integral 161
- x? I ndf 16.78 /14
15 x0 13.47 £ 0.33
~ aL 15.65+ 1.99
- sigL 3.048 + 2.890
10 — sigG | | 2.901+ 0.388
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Tower(a) 05TDO08 , inclusive ADC

10?

10

| IIIIIIﬂ] IIIIII[I]: IIIIIIII! IIIIIIII| IIIIIIH]: IIIIIIH|_

a05TDO08
Entries 1793874
Mean 0.2536
RMS 1.447
Integral 1.794e+06
X2 [ ndf 1.174e+05/ 8
Constant 1.055e+06+ 1724
Mean 0.2285 + 0.0007
Sigma 0.6303 + 0.0009
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ADC-ped
Tower(d) 05TD08 , ADC, tag: UxV 2*thr | d0o5TDOS8
— : ' Entries 154
"""""""""""""""""""""""" Mean 14.81
--------------------------------------- RMS 6.693
....................................... Integral 153
_______________________________________ x? I ndf 20.97 /16
x0 13.14 £ 0.37
"""""""""""""""""""""""""" aL 13.64 £ 1.55
--------------------------------------------- sigL 2.231e+04 + 9947
................................. sigG 3.021+ 0.294
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Tower(a) O5TEO8 , inclusive ADC a05TEOS
10° Entries 1793874
= Mean 0.07111
- RMS 1.447
10 = Integral 1.794e+06
F X2 [ ndf 1.158e+05/7
W0 E Constant 9.236e+05+ 1104
F Mean -0.004774 £ 0.000773
10" - Sigma 0.721+ 0.001
102 i [ R R O e el R
L T i s e L o e f
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80 100 120
ADC-ped
dO5TEO8
Entries 137
Mean 16.32
RMS 8.569
Integral 137
x? I ndf 5.125/13
x0 13.12 £ 0.40
aL 12.14 + 1.57
sigL 3.639+ 3.272
sigG 3.091+ 0.379
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Tower

(a) 06TAO08 , inclusive ADC

10?

10

..........................................................................................

TTTI T IIIIIﬂ] I IIIIIﬂ] I IIIIIII| I IIIIIII| I IIIIIII|

a06TAO08
Entries 1793874
Mean 0.1015
RMS 1.587
Integral 1.794e+06
X2 [ ndf 2.351e+05/ 8
Constant 5.972e+05 + 705
Mean -0.03269 + 0.00094
Sigma 1.035+ 0.001

24 E

22

20 =
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dO6TAO8
Entries 131
Mean 14.14
RMS 5.541
Integral 131
x? I ndf 19.14/ 14
x0 12.09+0.26
aL 16.85+ 2.29
sigL 2.718e+04 + 31209
sigG 1.84 +0.25




Tower(a) 06TB08 , inclusive ADC
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a06TBO08
Entries 1793874
Mean 0.2756
RMS 1.584
Integral 1.794e+06
X2 [ ndf 1.054e+05/ 8
Constant 8.226e+05 + 1043
Mean 0.1912 + 0.0007
Sigma 0.8139 + 0.0008
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d06TBO8
Entries 170
Mean 15.51
RMS 6.212
Integral 168
x? I ndf 14.96 / 15
x0 13.57+0.31
aL 16.52 + 2.13
sigL 3.416+ 2.673
sigG 2.731+ 0.365
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Tower(a) 06TCO08 , inclusive ADC a06TCO8

o [ Entries 1793874
107 Mean 0.4377
- RMS 1.624
10 Integral 1.794e+06
F X2 [ ndf 1.389e+05/ 8
10 = Constant 8.09e+05+ 1267
L Mean 0.3581+ 0.0007
10° == Sigma 0.811+ 0.001

100 Eef b B T—

10 oo b AU g TR H—
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100 120
ADC-ped
Tower(d) 06TCO08 , ADC, tag: UxV 2*thr | doeTCos8

— : Entries 166
22 I R Mean 15.43
20 == RMS 6.319
18 Integral 163
16 X? I ndf 13.42 /18
14 B x0 13.86 + 0.36
12 al 14.08 + 1.68
o E S!gL 3.111+ 3.164
0% SN U U (A A U NS o = sie6_— 3368 £ 0.455
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Tower(a) 06TDO08 , inclusive ADC

10?

10

| IIIIIIH]: IIIIIIH]: IIIIIIII! IIIIIIﬂ]:bIIIIIIﬂ] IIIIIIH]_

kb

a06TDO08
Entries 1793874
Mean 0.5354
RMS 1.467
Integral 1.794e+06
X2 [ ndf 1.015e+05/ 8
Constant 1.04e+06 + 1613
Mean 0.4426 + 0.0005
Sigma 0.6451+ 0.0009

Tower(d) 06TDO8 , ADC, tag: UxV 2*thr d0o6TDO08

oy — e e Entries 163

- 5 5 : Mean 14.87

— : ] : RMS 6.081

20 [ AR R R R S Integral 163

- X2 | ndf 8.779/ 14

15 [ x0 12.84+0.27
aL 17.86+2.72

sigL 8.43e+04 + 25275

sigG 2.521+ 0.414
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Tower(a) 06TEO8 , inclusive ADC

10?

10
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........................
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a06TEO8
Entries 1793874
Mean 0.1912
RMS 1.496
Integral 1.794e+06
X2 [ ndf 1.941e+05/ 8
Constant 7.548e+05 + 1146
Mean 0.1271+ 0.0010
Sigma 0.8408 + 0.0011

....................................................................

ADC-ped
dO6TEOS
Entries 121
Mean 14.83
RMS 7.159
Integral 121
x? I ndf 9.537 /11
x0 12.11+ 0.45
aL 11.42+1.70
sigL 6.958e+04 + 68401
sigG 2.935+ 0.424




Tower(a) 07TAO8 , inclusive ADC a07TAO0S8
o Entries 1793874
10 = Mean 0.4848
F RMS 1.492
10 = Integral 1.794e+06
~ X? / ndf 1.333e+05/ 7
10 = Constant 9.668e+05 + 1925
F Mean 0.4171+ 0.0006
10 = Sigma _0.6811+0.0012
10 b
L

Tower(d) 07TA08 , ADC, tag: UxV 2*thr |

18

16

14

12
10

8

dO7TAO8
Entries 164
Mean 14.8
RMS 5.95
Integral 164
x? I ndf 6.722 /17
x0 13.77+0.32
aL 16.27+ 2.01
sigL 3.691+ 1.887

............................................................................

sigG _ 2.982+0.347




Tower(a) 07TB08 , inclusive ADC a07TBOS

F Entries 1793874
10 Mean 0.4879
. F RMS 1.452
10" == Integral 1.794e+06
— X2 [ ndf 7.572e+04 | 7
10° g Constant 1.195e+06 + 1539
~ Mean 0.4045 + 0.0005
10° = Sigma 0.5702 + 0.0006

102 I;_ ............................................................................................................................................
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L o o R PO

80 100 120
ADC-ped
Tower(d) 07TB08 , ADC, tag: UxV 2*thr do7TBOS

- : : Entries 128
16 E— Mean 14.19
B . | RMS 6.101
14 = Integral 127
12 x? I ndf 11.8/14
m | x0 12.57 +0.31
10 7 aL 15.42+1.94
g sigL 1.559e+05+ 40778
E - [sigG. 2.193+0.241
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Tower(a) 07TCO08 , inclusive ADC a07TCo8
10 Coh Entries 1793874
= Mean 0.05174
 F RMS 1.396
1 e e S S Integral 1.794e+06
- X2 [ ndf 1.182e+05/7
10° Constant 1.309e+06 + 2095
— Mean 0.01268 + 0.00082
10" =+ Sigma 0.5078 £ 0.0007
102 R 1 R e e T S AT S
O R R e  FE 0 R e L 1 e e oo
1 — Hﬂj"‘ """ "‘lﬂ """ koo ckes e sm ook 2ol "I""""""""‘ ""'lolo """""""" 12lo
ADC-ped
Tower(d) 07TC08 , ADC, tag: UxV 2*thr | d0o7TCO8
— Entries 132
— ] Mean 15.66
RMS 7.787
Integral 132
x? I ndf 14.42 /12
x0 13.31+0.40
aL 11.69 + 1.53
sigL 1.169 £ 0.495
sigG 3.19 + 0.34
.ﬂ.ﬂiﬂ..ﬂSiﬂ...|
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Tower(a) 07TDO08 , inclusive ADC a07TDoS8
T Entries 1793874
= Mean 0.09303
= RMS 1.63
= Integral 1.794e+06
= X2 / ndf 1.831e+05/8
= | L Constant 6.589e+05 + 762
— Mean -0.03178 + 0.00089
E | | W Sigma 0.9694 + 0.0008

Ao,
80

-r-J-|—0.—.-.—.-i---.—.-|-----|-=—.--|—.-.—.-.—i

18
16

14

12
10

8

100 120
ADC-ped
Tower(d) 07TDO08 , ADC, tag: UxV 2*thr | d07TDOS
: : Entries 137
Mean 16.77
RMS 7.953
Integral 136
X2 I ndf 11.24 /13
X0 13.83+0.36
aL 12.99 + 1.68
sigL 2.332e+04 + 51155
sigG 2.751+ 0.309
00 o Co
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Tower(a) O7TEO8 , inclusive ADC

10?
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| IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIIIII|bIIIIIIﬂ] IIIIIIH]_

a07TEO8
Entries 1793874
Mean 0.4416
RMS 1.475
Integral 1.794e+06
X2 [ ndf 9.343e+04 / 8
Constant 9.571e+05+ 1391
Mean 0.396+ 0.001
Sigma 0.7047 £ 0.0009

24 E
22
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16
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12
10

dO7TEOS8
Entries 134
Mean 14.02
RMS 4.828
Integral 134
x? I ndf 11.23/16
x0 13.1+0.4
aL 12.63+1.08
sigL 3.538e+04 + 1
sigG 3.085+ 0.319
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Tower(a) 08TA08 , inclusive ADC a08TAO08

S e v SO O SOTTROYOS SO Entries 1793874
- Mean -0.003641
N T e RMS 1.576
W E" : : ' Integral 1.794e+06
F X? / ndf 2.188e+05/ 8
W e Constant 6.745e+05 + 775
F Mean -0.136 + 0.001
S~ e Sigma 0.9262 £ 0.0008

102 .;— .................................................................................................... ................................................

T 7 SO ERR . 1 RTINS e S
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80 100 120
ADC-ped
Tower(d) 08TAO8 , ADC, tag: UxV 2*thr dO8TAO0S

= : Entries 113
14 [Tt B ‘ """""""""""""""""""""""""" Mean 14.46
1 RMS 5.473
Integral 113
10 X2 I ndf 15.1/15
x0 13.65+ 0.63
8 aL 7.489 + 1.064
sigL 1.462 + 0.851
6 sigG 4.805 + 0.660

..........................................................................................
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Tower(a) 08TBO8 , inclusive ADC a08TBO0S8
e Entries 1793874
= Mean 0.007016
T RMS 1.549
10 E Integral 1.794e+06
o - X2 / ndf 1.627e+05/8
E Constant 7.564e+05 + 850
F Mean -0.1124 + 0.0008
10 = Sigma 0.8554 + 0.0007
10? .;— ' .
10 =
1

ADC-ped
Tower(d) 08TB08 , ADC, tag: UxV 2*thr do8TBOS

— : — Entries 109
ol A o Mean 15.67
= RMS 6.431
- Integral 109
10 — X? I ndf 21.32 /17
- x0 14.08 £ 0.97
8 aL 8.54 +2.32
- sigL 2.279e+04 + 37405
6— sigG | 3.13+1.00
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Tower(a) 08TCO08 , inclusive ADC a08TC08

F Entries 1793874

10" - Mean 0.3758

. ~ RMS 1.455

10" Integral 1.794e+06

— X2 [ ndf 4.495e+04 | 7

10" = Constant 1.242e+06 + 1516

— Mean 0.2961+ 0.0005

10° = Sigma 0.5585 + 0.0005
10? =
10

1= 40 60 100 120
ADC-ped
d08TCO08

Entries 126

Mean 15.5

RMS 7.037

Integral 126

x? I ndf 8.024 /15

x0 13.37+0.34

aL 13.67 +1.68

sigL 1.454e+04 + 36168

sigG 2.608 + 0.283
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Tower(a) 08TDO08 , inclusive ADC a08TDO0S8
. Entries 1793874
10" e Mean 0.07951
. RMS 1.564
10 e Integral 1.794e+06
F x? I ndf 1.152e+05/7
0 e Constant 1.043e+06 + 1294
F Mean -0.01816 = 0.00076
10 = Sigma | 0.638 + 0.001
10? .;— ---------------------------------------------------------------------------------------------- ----------------------- ------------------------
Y SN L U 1T S F S S
ool il il | M eaho g i
80 100 120
ADC-ped
Tower(d) 08TD08 , ADC, tag: UxV 2*thr | dosTDOoS
B : — : : Entries 128
S A AT Mean 15.8
18 | e e | RMS 6.355
16 Integral 128
” : x? I ndf 15.6/16
| x0 13.85 + 0.47
12 7 aL 10.88 + 1.54
10 sigL 201.2 +9789.6
8 , . [ _SIgG | 3.19+0.45
o e _—
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Tower(a) 08TEOS , inclusive ADC a0O8TEOS

o Entries 1793874
10 = Mean 0.499
P RMS 1.555
10 =3 Integral 1.794e+06
F x? I ndf 1.212e+05/7
10" - Constant 9.152e+05+ 1588
F Mean 0.4111+ 0.0006
10 = Sigma _ 0.7246 + 0.0011

e e

e R e e e e s o

L i A P Hi

80 100 120
ADC-ped
Tower(d) 08TEO8 , ADC, tag: UxV 2*thr | dOSTEOS

— : Entries 122
L S N Mean 17.08
19 Eee e b RMS 7.354
Integral 121
£ ) EEESSUUURUURRUON SUURUPUOR (SPUOOESOUS 1000 1 VUSROS SUOROU USRI x? I ndf 13.71/19
x0 13.99+0.39
g e L al 12.42 +1.65
sigL 5.528e+04 + 14839
B [ el e s sigG 2.368 + 0.314
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Tower(a) 09TAO08 , inclusive ADC a09TAO08
; Entries 1793874
10° = Mean 0.4127
= RMS 1.542
10° = Integral 1.794e+06
~ X2 / ndf 7.658e+04 / 6
10° = Constant 1.392e+06 + 1605
. — Mean 0.3484 + 0.0004
10" - Sigma 0.4891+ 0.0004
10° .;— -------------------------------------------------------------- ------------------------------------------------
10 ;— ------------------------------------------------------------------- """""""""""" P
L I ] ol ol
80 100 120
ADC-ped
Tower(d) 09TAO08 , ADC, tag: UxV 2*thr d09TAO08
— : : Entries 113
12 [T . Mean 17.94
— RMS 8.09
10 — Integral 113
— x? I ndf 25.39/19
81 = X0 14.02 + 0.62
~ aL 8.717+ 1.613
61— sigL 4.527e+04 + 19156
- sigG | _ 2.882+0.659
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Tower(a) 09TBO08 , inclusive ADC

10?

10
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a09TBO08
Entries 1793874
Mean 0.04812
RMS 1.735
Integral 1.794e+06
X2 [ ndf 2.508e+05/ 8
Constant 5.512e+05 + 627
Mean -0.09041+ 0.00105
Sigma 1.11+£ 0.00
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80 100 120
ADC-ped
d09TBO8
Entries 152
Mean 14.95
RMS 5.732
Integral 151
x? I ndf 10.15/12
x0 12.45+0.34
aL 15.84 + 2.05

5.123e+04 + 15256
2.677+0.385




Tower(a) 09TCO08 , inclusive ADC

6

10
10°
10°
10

10?

10

a09TCO08
Entries 1793874
""""" Mean 0.4307
RMS 1.507
""""" Integral 1.794e+06
X2 [ ndf 9.065e+04 / 7
Constant 1.129e+06 + 1518
Mean 0.4053 £ 0.0005
Sigma 0.5981+ 0.0007

| JMP—L MJL_I ......... | — l

20
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10

8
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40 60 100 120
ADC-ped
Tower(d) 09TCO08 , ADC, tag: UxV 2*thr | do9oTCo8
Entries 179
Mean 15.76
RMS 5.927
Integral 179
x? I ndf 10.92 /18
x0 14.4+ 0.3
aL 17.03+1.88
sigL 5.212+6.174
sigG 3.061+ 0.306

6
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Tower(a) 09TDO08 , inclusive ADC a09TDO0S8
10° Entries 1793874
= Mean 0.07243
- RMS 1.673
10 e Integral 1.794e+06
F X2 [ ndf 1.769e+05/ 8
W0 E Constant 7.902e+05 + 948
F Mean -0.04661+ 0.00088
10° - Sigma 0.8108 = 0.0007
102 i R Rl e e L L R
10 Sy e rosermaneanessass -
L R L
80 100 120
ADC-ped
Tower(d) 09TDO8 , ADC, tag: UxV 2*thr dooTDOS8
: Entries 182
20 Mean 16.37
18 RMS 7.701
16 Integral 182
14 x? I ndf 15.22 /18
x0 14.37+0.34
12 aL 17.54 + 1.97
10 sigL 3.421e+04 + 24566
8 sigG 2.691+ 0.283
6 : 1' ------------------------------------------------------------------------------------------------------




Tower(a) 09TEO8 , inclusive ADC

a09TEQOS8

Entries 1793874

Mean 0.3717
RMS 1.467
Integral 1.794e+06
X2 [ ndf 9.458e+04 / 7
Constant 1.16e+06 + 1613
Mean 0.322 +£ 0.001

Sigma _0.5809 + 0.0007

25

80 100 120
ADC-ped
d09TEOS8

Entries 178
Mean 14.36
RMS 5.206
Integral 177
x? I ndf 36.88/ 14
x0 13.45+0.51
aL 17.81+ 2.95
sigL 3.628 + 3.247
sigG 2.386+ 0.431




Tower(a) 10TAO8 , inclusive ADC al0OTAO0S
¢ Entries 1793874
= Mean 0.5997
- RMS 1.593
10 = Integral 1.794e+06
F X2 / ndf 9.99e+04 /8
0 e Constant 8.795e+05 + 1243
F Mean 0.4712 + 0.0006
10 = Sigma _ 0.7635+ 0.0009
102 .;— ----------------------------------------------------------------------------------------------------- ------------------------------------------------
10 b P Ul S —
- [0 I e 1 R L
80 100 120
ADC-ped
Tower(d) 10TAO08 , ADC, tag: UxV 2*thr | d10TAO08
— : — Entries 144
16 prom A IRl | " Mean 16.74
14 e SRR S 4 : f RMS 7.397
m : ] : : Integral 144
12 X? I ndf 19.58/9
10— x0 13.73+0.39
= aL 12.16 £ 1.63
81— sigL 9.015e+04 £ 1
6 - s 2.878 + 0.350
S O 000000000 SO
2 — H -------------------------------------------------------------------
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Tower(a) 10TB08 , inclusive ADC al0TBOS
. Entries 1793874
10 Mean 0.359
. RMS 1.634
10 Integral 1.794e+06
. X2 [ ndf 1.368e+05/ 8
10 Constant 7.639e+05+ 1047
, Mean 0.288 £ 0.001
10 Sigma . 0.8598 + Q.OOlO
10?
10
1

16 F
14

12
10

100 120
ADC-ped
d10TBO08

Entries 173
Mean 15.81
RMS 6.592
Integral 172
x? I ndf 6.682 /16
x0 13.79 + 0.40
alL 13.89+1.63
sigL 1.752+2.712
sigG 4.014 + 0.817
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Tower(a) 10TCO08 , inclusive ADC alo0TCos

o Entries 1793874
10 E Mean 0.4288
F RMS 1.491
10 = Integral 1.794e+06
— X2 / ndf 1.076e+05/7
100 Constant 1.012e+06 + 1646
F Mean 0.365+ 0.001
10 = Sigma _0.6608 + 0.0009

102 ;? ............................................................................................................................................

10 o e T
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100 120
ADC-ped
Tower(d) 10TCO08 , ADC, tag: UxV 2*thr d10TCO08

— : Entries 145
16 - Mean 17
— RMS 8.272
14 — Integral 145
12 - x? I ndf 18.72 /13
— x0 13.49+£0.30
10 — aL 15.26 £ 2.15
= sigL 7.056e+04 + 44892
= sigG 2.277 + 0.305
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Tower(a) 10TDO08 , inclusive ADC

10?
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(I |

al0TDO08
Entries 1793874
Mean 0.3253
RMS 1.678
Integral 1.794e+06
X2 [ ndf 1.168e+05/7
Constant 9.908e+05 + 1669
Mean 0.2618 + 0.0007
Sigma 0.6707 £ 0.0010

o oo

22
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16 =
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10

o N A o

slo 80 100 120
ADC-ped
d10TDO8
Entries 179
Mean 16.96
RMS 6.748
Integral 177
x? I ndf 15.58 /17
x0 15.18 £+ 0.41
aL 14.07 + 1.66
sigL 4.163e+04 + 41973
sigG 3.473+ 0.377
ol oo,
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Tower(a) 10TEO8 , inclusive ADC alOTEOS

S O S SO SNE SO Entries 1793874
= Mean 0.0568
T T e RMS 1.692
10 E ' ' ' ] Integral 1.794e+06
. = X2 / ndf 2.025e+05/8
E [ h Constant 6.476e+05+ 741
. F Mean -0.09766 + 0.00090
= e S A S Sigma _0.9741+0.0008
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0 20 40 60 80 100 120
ADC-ped
Tower(d) 10TEO08 , ADC, tag: UxV 2*thr | d10TEOS

— : Entries 144
18 Mean 15.84
16 — RMS 6.442
y = Integral 143
- x? I ndf 11.34/16
12 x0 13.95+0.41
10 E— aL 12.11+1.42
. = sigL 1.805e+04 + 32599
= 3.323+0.322
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Tower(a) 11TAO8 , inclusive ADC allTAO0S

o S S SO, Entries 1793874
10 = : Mean 0.1057
 F RMS 1.544
e e S Integral 1.794e+06
F X2 [ ndf 1.482e+05/ 8
10 = Constant 9.412e+05+ 1332
F Mean 0.02776 + 0.00091
10° = Sigma 0.6934 + 0.0008
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80 100 120

ADC-ped

Tower(d) 11TAO08 , ADC, tag: UxV 2*thr | d11TAO0S

: : : Entries 146
22 Mean 15.65
20 RMS 6.84
18 : Integral 144
16 x? I ndf 12.8/15
14 x0 13.85+0.25
12 a!_ 20.35+2.75
10 é sigL 4.132+3.314
sigG 1.779+ 0.219
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Tower(a) 11TB08 , inclusive ADC

10?

10
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allTBO08
Entries 1793874
Mean 0.4216
RMS 1.52
Integral 1.794e+06
X2 [ ndf 1.397e+05/ 8
Constant 1.042e+06+ 1780
Mean 0.3876 = 0.0006
Sigma 0.6296 + 0.0010

bk 1 oebeceee 4 RIS SIS o
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Tower(d) 11TB08 , ADC, tag: UxV 2*thr |
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120
ADC-ped
d11TBO08
Entries 133
Mean 14.8
RMS 6.611
Integral 132
x? I ndf 17.4/ 16
x0 13.31+0.42
aL 10.46+ 1.32
sigL 1.626 +£ 0.882
sigG

3.695+0.417
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Tower(a) 11TCO08 , inclusive ADC allTCcos

; Entries 1793874
10° £ Mean 0.5802
~ RMS 1.554
10° = Integral 1.794e+06
— X2 / ndf 5.266e+04 / 6
10 = Constant 1.35e+06 + 1537
~ Mean 0.4839 + 0.0004
10° = Sigma 0.5113 + 0.0004

10? .;— -------------------------------------------------------------------------------------------------------------------------------
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100 120
ADC-ped
Tower(d) 11TCO08 , ADC, tag: UxV 2*thr d11TCo0S8

— : Entries 138
18 Mean 16.05
16 — RMS 6.722
n= Integral 136
- x? I ndf 20.06/ 16
12 x0 13.84+0.30
10 - aL 14.57 + 2.65
. = sigL 2.194e+04 + 28742
= SigG_ 2.188+ 0.422
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Tower(a) 11TDO08 , inclusive ADC

10?

10
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allTDO08
Entries 1793874
Mean 0.1631
RMS 1.589
Integral 1.794e+06
X2 [ ndf 1.63e+05/8
Constant 7.402e+05 + 993
Mean 0.09319 + 0.00087

Sigma

0.8737 + 0.0010

Tower(d) 11TDO08 , ADC, tag: UxV 2*thr |

20
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ADC-ped
d11TDO08
Entries 146
Mean 154
RMS 7.34
Integral 145
x? I ndf 14.67 / 13
x0 13.3+0.5
aL 10.92+1.62
sigL 2.025e+04 + 1
sigG 3.714 + 0.618
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Tower(a) 11TEO8 , inclusive ADC

10?

10
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allTEO8
Entries 1793874
Mean 0.4404
RMS 1.565
Integral 1.794e+06
X2 [ ndf 1.257e+05/ 8
Constant 8.897e+05 + 1486
Mean 0.3684 + 0.0007

Sigma 0.7433+ 0.0011
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ADC-ped
Tower(d) 11TEO8 , ADC, tag: UxV 2*thr | d11TEOS
: Entries 111
I Mean 15.74
.............................................. RMS 6.514
Integral 111
x? I ndf 15.61/12
x0 13.78 £ 0.45
aL 10.47 +1.68
sigL 5.54e+04 + 11924
sig6 2.757 % 0.422
: e Ny
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Tower(a) 12TAO08 , inclusive ADC al2TAO08
— Entries 1793874
= Mean 0.08462
— RMS 1.585
= Integral 1.794e+06
- X2 [ ndf 1.293e+05/ 8
= Constant 9.632e+05+ 1225
- Mean -0.009821+ 0.000806
E Sigma 0.6852 + 0.0007
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ADC-ped
Tower(d) 12TA08 , ADC, tag: UxV 2*thr d12TAOS
Entries 142
Mean 16.01
RMS 7.43
Integral 141
x? I ndf 16.39/15
x0 14.39+0.36
aL 13.33+£1.69
sigL 1.297 £ 0.541
sigG 3.124 £ 0.355
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Tower(a) 12TB0O8 , inclusive ADC al2TB08
F Entries 1793874
10 = Mean 0.5556
F RMS 1.504
10" == Integral 1.794e+06
— X2 / ndf 7.294e+04 | 7
10* = Constant 1.215e+06 + 1528
. ~ Mean 0.4683 £ 0.0005
10" - Sigma _ 0.5617 + 0.0006
10 - ' ' '
10 %—
1

Tower(d) 12TB08 , ADC, tag: UxV 2*thr d12TB0S
— : Entries 138
18 Mean 16.82
16 — RMS 8.399
n= Integral 138
= X2 / ndf 15.58 /17
12 — x0 14.08 + 0.38
10 E— aL 13.54+ 1.78
. — sigL 9.26 + 20.35
= sigG 2.706 + 0.322
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Tower(a) 12TCO08 , inclusive ADC al2TCcos

10 T T Entries 1793874

= Mean -0.08135

o L N A N RMS 1.742

= Integral 1.794e+06

N X2 / ndf 2.781e+05/ 8

10 E L Constant 4.973e+05+ 592

. F Mean -0.2251+ 0.0012

107 i Sigma 1.208 + 0.001

ADC-ped
d12TCO08
: Entries 156
18 Mean 14.16
16 : RMS 7.228
” Integral 156
X2 | ndf 5.569 / 17
12 : x0 12.52 +0.36
10 aL 14.14 + 1.60
sigL 8.588e+04 + 1
® g sigG 3.29 + 0.33
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Tower(a) 12TD08 , inclusive ADC al2TDO0s
o S SO SO SO Entries 1793874
= Mean 0.2977
 F RMS 1.64
e Integral 1.794e+06
F X2 [ ndf 1.809e+05/ 8
10 I A Constant 7.258e+05+ 1076
F Mean 0.2603 + 0.0010
100 gy e Sigma 0.8808 + 0.0011
T T £ TS ST S R — .
10 it A b Wiy J— H—
E O 110 PO s s a1 A l
40 60 80 100 120
ADC-ped
d12TD08
Entries 115
Mean 16.63
RMS 10.08
Integral 115
x? I ndf 7.241/16
x0 13.21+0.40
aL 10.75+ 1.59
sigL 2.584e+04 + 25731
sigG 2.844 + 0.397




Tower(a) 12TEO08 , inclusive ADC al2TEOS
10 Cor Entries 1793874
= Mean 0.3265
. RMS 1.737
107 b Integral 1.794e+06
- X2 [ ndf 2.38e+05/8
10° = o e e Constant 5.804e+05 775
— Mean 0.2341+ 0.0010
L S B Sigma 1.062 + 0.001
102 S [ I o
10 e P R v e

1 80 100 120
ADC-ped
Tower(d) 12TEO08 , ADC, tag: UxV 2*thr | d12TEOS
: Entries 103
Mean 16.72
12 RMS 8.279
10 Integral 103
x? I ndf 10.52 /17
g x0 14.79 + 0.59
aL 7.965+1.188
5 sigL 4.162e+04 + 21259
sigG | | 3.832 + 0.598
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[ MPV gated w/MIP ] mpv

. Entries 10
Mean 13.31
35 RMS 0.6822
3 Underflow 0
. Overflow 0
Integral 10
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MPV of ADC-ped

[ relative error of MPV, MIP gated | mpVvE
T I Entries 10
— Mean 0.03709
- N T e RMS 0.003846
‘E Underflow 0
— : : ; ; Overflow 0
S gy g g Integral 10
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err(MPV)/MPV



